

Name _______________________


ALS - 19
Lecture 19:  Minimal Spanning Trees
A spanning tree of a graph G is a tree with _____________________ and _____________________.
A weighted graph has edges with _____________________________
Adjacent vertices are also called _________________ and are connected ____________________.
A vertex’s nearest neighbour is the neighbor______________________________
A minimum spanning tree is the spanning tree for which ________________________________________.
Draw all of the spanning trees for the graph below.


Compute the total cost for each spanning tree above: ________, ________, and ________.
At each step of Prim’s algorithm, you choose _______________________ that does not form a cycle.
The running time of Prim’s algorithm is ___________.
At each step of Kruskal’s algorithm, you choose _______________________ that does not form a cycle.

The running time of Kruskal’s algorithm is ___________.
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